ERYE (RAEXI—R) EHHAR FERK

2019 8 H 6 H (!K) 7##H (19:25~20:35, 70 77)

ERFIE:

BESNERICES L. BAREEHNSROOSNIIZEZRE, HERTE, B
FBHEEEFSLBVWZEDERBRSROTRE LBV, RADKRICHEREEFHT
SNHTVWEWZ EHDHIBALIIZE S, AROFEWET 3.

[TRE PR (AHR) 1 A%, BEFERLAIAE 14, AR5 A 1 A
FER, (REEADVWINDZEREL TV REDHRRERD S

FLAR LFIHFREDOHDREUN, HEAHRATH 2. EFEE, AV—h
7 # Y EDREHERIFERHEL.

U & U ORI DMEADRITL 9 2 & HOFP LEORYT v
MEAND T ERIET 3.

UK FEDREPN T HA, 2 UEHT I L. BT eBTEhuEgS, BE
FICH L % 2 L. 5KEREl, ABRBPZRALT, INDEA, SHERBARETAEHS
R

MED LT R CRERROMEDMEICREAT DI &. MBEIZLTHNITIL
D2l BHANOFEBIIHHEL TRNAT 5. £/, BEREDOEMIXRHEL
DT, OREIZEZTRETHZ L.

ABRRARERICFERS, REZREMMOMEDR (2 0P ICEEATR I L.
EHEICBRELBWESTH, I EHAICHOESERAZRATIIE. K& (7
WxR—=L) HBELBWVWEDIFRRDONRN, BANBEARNIE 5 RiBRT 3.

M IO RN S OWF FEEE 500 ) Dk L HEREE R b DIXERRD
NRNET L. 7, BLIEDEI Do e @) M icit 2 & D
TELXFIREEZR > THET 2 (= BRWICE A DD 720I1F 9 IKERT 5).
Z O, FREFITE L B EH I N B ELE LN T .

BRRETSEE, FEDOHCHS X TRIFEZESRILET S.

BEREZVIRETSI L. REVPRVGE, ZO02EEFIFOHRL 2%, &
BoY6, AT ERE I NS, MEMR, sIEARKERbm2 2 L.

ZOBRIE 110 MR TH S, FHAIE L TESREZZOE IR E T 508, &
IOV TIE OB EORE (D FED 9 KM L) 2E/ L 2 TOARZNRET
5 H[REMEDS D 2.



1.(10 K x2=20 ;) RDOIKRNFIBZ it JHE L (FADATIW).
(1) ged(14,56),  (2) ged(1653,2059).

2.(10 85 x2=20 ) KO FEENE 72 THIOH (v, y) & —HEZ k. TR 2T
BROM (z,y) DAL WG, THELZ ) EFHSZE (BADATEW).
(1) 4z — 14y = 2, (2) 23z — 43y = 5.

3.(10 K1) 5?0 2 23 CHI-> 7 L ZDRD %, 0,1,...,21, 22 D 5EXR (ZZDATLIV).

4.(10 M x2=20 M) EHAB XU B %2, A={1,2}, B={a,b,c,d, e} TEDS. Ad
5 BANDOE/IZAHT (1) M, A»S BANOFNLZGEHRIILHT (2 b3,
(1) BX O Q2) @Y 2B T2 AL (BADATIW).

5.(10 5, °HE?) 806201908062019 % 1667 TH- 72 L EDRD %2 0,1,2,...,1666 »>
SR (BZDATIW),
EVb: 15H7D%806---2019 % T2 5 4 i3 DXEIDH |

806 x 10" + 2019 x 10~ + 806 x 10~ + 2019

DIFTHRE (O ITIFZNZTNERL 25D3A3). 10 =0 (mod 1667) & 72 5 AEXHEH/]N
SOz HEOIT K.

6.(15 %) $XTOIEEL n IR L,

n

3= (n(n;— 1))2

j=1

DR SO &% WENIRNEZBWTEEHE L. BrAfainis 2 A BRI A 220
AP, 5 2 BIRICERNT 5.

7.(15 1) Z 2 BB e2hOEELT 5. £, BAEX %
X ={bx+T7y |z, yl3EH}
TEDS. ZOELEE X CZEBIVZCXZRTIETX =Z %iHAY X, X CZ
EZCXDELLPSHHALTH XS, EL5 2L T 20z ML 7 1
TRETHZE. EL0ZHHL T3 DT WERITKIRICHN T 5.
DLk

RERARREDRIIC

fRERMORBICPETS, KADOHEEND 20 E2MERL T 23w, fE

FHAG (AHR) ERFEMRIEIR B IR-> TS v £, FAEIRDENR VL) I LT
S\,



